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��������	����	�� (i) ��  ��������
  �! 14 �� #� �������"��� ��#�$!�����%

(ii) � & ! � �����&����'&�! ��(� ��)* � � �� � � ���#��!�
 ����� ��������� ��#�#$�
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1) � = �1, 2�, � = �1, 2, 3, 4�, � = �5, 6��)*� � = �5, 6, 7, 8�0��
 �-�2 ���&����'�#��!�
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5�7 �� X �� ⊂ �� X �� 597 �� X �� ⊂ �� X ��

2) ��� × �� = 20 �)*� ���� = 5 0��
: ���� 8�, ;;;;%
(6) 5   (8) 4     (�) 80 (9) 15 

3) � = ��, �, ��, � = �2, 3� �)*� � = ��, �, �, �� 0��
:, �[�� ∩ �� � �] 8�, ;;;;%
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  �! 0
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9) 6/*0, 9/*02, 12/*0*2 8��$�)��( �-%���%�
(6) 36/0*2*  (8) 36/*0*2 (�) 36/*0*2* (9) 3/*0
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*
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*

+ 2  (9) 70 + '
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11) /, + 64 ?1 �
����� ��)� 6�I�( ��(�����)*� 0#�� 3'� ���&�4
567 4/2 587 16/2 5�7 8/2 597 −8/2

12) 
:;6)

:4<*:<) 0(� �����?* ���#�$�( ��<����'� ����	
(6) 8   (8) 2   (�) 4 (9) 1

13) 4/, − 24/& + 76/* + �/ + � A� ?1 �
��� 0��
: � �)*� � E $�( ����	
567 100, 120 587 10, 12 5�7 −120, 100 597 12, 10

14) A� ����$ �
J*�	� ���#�$�( �#���� A�
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����& 587 �'�� 5�7 ���#!$� 597 6�����#!$�
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��������	����	�� (i) 10 � � � � � ��������"�� �'&� ��#�$!�����%

(ii) ���� 0����� 0� 28 EE � $ #� �� $ #� ��� �'��$��� ��#�$!�����%�� �'��$��� ��#�$!�����% (10 x 2 = 20)

15) � = �1, 2�, � = �1, 2, 3, 4�, � = �5, 6� �)*� � = �5, 6, 7, 8� 0��
 � X � 8�, � X � �(
 '���� 0�H /����
��%

16) �/* − 3/, 0* + 40� �)*� �−2, 5�8��$ ���#/H�/�>�� /�� 0��
: / �)*� 0EK� ����%
17) = 0(�  �� >�/, 0�/ 0 = / + 3, / ∈ �0, 1, 2, 3, 4, 5�A 0�� ���&����'&�!,% �L����(
������� �)*� �-H/�� ����%

18) � = �1, 2, 3, … , 100� �)*� B 0(�  �� M � – ( �-, N
 0���( ���O 0�

�#�$*����'��
 B – ���� �������#�.� �-H/��#�.� ����%

19) −11, −15, −19, … 0(� 3'&�������( 19E�,  *�#�� ����%

20) 9, 15, 21, 27, … … ,183 0(� 3'&�����
���#/$�( �&  *�	�#!� ����%
21) 21, 18, 15, … 0(� 3'&�����
���#/$�
 −81 0��#�$��,  *�	4 ��J�
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 ���#/$�
 0 N
  *������ 0(�#� �����,�( ��!���%
22) A� ��#�$�@��( ?�
 ���#/$�
 20 ���#��"� ������ 30 ���#/�"�  �!�%
6&��&�� AL���� ���#/$�J� 6�)� ?+#�$ ���#/#$ ��� ���& ���#���
3&�<��  �!�% �#�/� ���#/$�
 0��#� ���#��� �����4
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24) C�/� = /* − 5/ − 14 0(� �
J*�	����#� !�/� 0(� �
J*�	����#�$�
 ����
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 !�/� E K� ����%

25) �
��P<� ���� �
',, DEFG4HGI

)' JG4K5LG5

26) �-
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27) 8/* − 25 = 0 0(� ���>H/�(��'>( P<@�!�( 3&�
 �)*� �����)�<(
����%

28) C/* + M√3 − √2O/ − 1 = 0 0�� ���&����'� /�(��'>( A� P<� / = '
√& 0��
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��������	����	�� (i) 10 � � � � � ��������"�� �'&� ��#�$!�����%

(ii) ���� 0� 42 E � $ #� ��� �'��$��� ��#�$!�����% (10 x 5 = 50)

29) � = �/ ∈ ℕ/ 1 < / < 4 �  ,   � = �/ ∈ Q/ 0 ≤ / < 2� �)*� � = �/ ∈ ℕ/ / < 3 � 0��
: � X �� ∩
�� = �� X �� ∩ �� X �� 0(�#�H /����
����%

30) � = �/ ∈ Q/ / < 2 �  ,   � = �/ ∈ ℕ/ 1 < / ≤ 4� �)*� � = �3, 5� 0��
: �� ∪  �� X � = �� X �� ∪
�� X �� 0(�,  �#�$� 0� �/�������%

31) � 0(�, 8 E K ���� �#���� �$
 0��!�( ���: � 0(�, 8 E K ���� �#����
��� 0��!�( ��� �)*� � 0(�, ��'#���#� ��� 0��!�( ��� 0��


� X �� − �� = �� X � � − �� X � � 0(�#�H /����
����%
32) ��/, 0�/ 0 = / + 3, /, 0 8��$#� �$
 0��� < 10� 0(�  �#� (i) 6�	��������

(ii) �#���� (iii) �'>$
 ?#�$�
 �����%

33) A� 3'&�����
���#/$�( 6&��&�� ��(�  *�	�!�( 3&�
 28 �)*� 6�)��(
�
��@�!�( 3&�
 276 0��
 6+� 0��#!� ����%

34) ����$� ��, ?�
 ��� �������� Q%  15,000 9'&����
% 6�( ���� AL���


8�&� 6��, ��� ������ Q%  1500  $
���,% 6�"#�$ ?�
 ��� �/<�
Q%  13,000 �)*� 6�!, ����+���H �/<� AL���
 8�&� Q%  900  $
���,%
����$���( ����+���H �/���	 Q% 20,000 6#�$ 0L�!� ��<� 8��4

35) ���& 3'&�����
���#/�� A�� ���,�����$�/� ����&�!�% A�
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���#/$�( ?�
  *�	 2 �)*� �)���� ����
���#/$�( ?�
  *�	 7% ��
����
���#/�!�( 10 �,  *�	�"���#��$  �! �����$�/�: 21 – �,
 *�	�"���#��$  �! �����$�/���)�H /�� 0� ��Q���,  �!,% �+�
�����$�/� 6+�� 3'&� ����
���#/�!�( ���, �����$�/���)�H /����  �!,
0� ��*��%

36) (i) /, 10, 0, 24, 2 0(�#� A� 3'&� ����
���#/$�
  �!� 0��
: /, 0, 2 8��$�)��(
����	 ����%

(ii) 3, 6, 9, 12, … , 111 0(� 3'&�����
���#/$�
  �!  *�	�!�( 0����#�#$�
����%

37) �����: �+#�: ���� 8��$ P���( /��/�� �$, RB 8��% �������( �$��
 ����:
�+#�$�( �$��
 P(��
 A� �@� �)*� ����$�( �$��
 ��(��
 A� �@�
8��$�)��( 3&�
 DR 8��% ��(� 8�&�"�� ?( �������( �$, ����$�(
�$#�� ���
 ��(� ��@� 0��
 P���( �)���#�$ �$#�� ����%

38) �/& + 0&�, �/, + /*0* + 0,� 8��$ �
J*�	����#��!�( �-%���%� �/& + 0&�, �/* + /0 +
0* 0��
: ��)��( �-%���%� ����%

39) S�����
D4<'(
D;<) x *D4<&D<*

*D46TD6, ÷ &D4<''D<,
D46*D6,

40) �
��P<� ����� �6/* + / − 1��3/* + 2/ − 1��2/* + 3/ + 1�
41) �
��@�!�( 3&�
 365 ���3>$ 6&��&�� ��#� ?1��� ���>#�� ����%

42) /* + 6/ − 4 = 0 0(� /�(��'>( P<@�� V �)*� W 0��
 V* , W*  8��$�)#�
P<@�!��� ����� ���>H /�(��'#�� ����%

�������� – IV

��������	����	�� (i) ��  � � �� � �& )* ���������
  �! AL���� ������J� ���& ��)* �������
� & !���&����'&�!�%

(ii) L � � � � �� � A � #�AL���� ������J�  �! ���& ��)* ������!�<��+, A�����#��

� � � $ �� � � $ ���
+��&�, �� ������"��� ��#�$!�����%��
+��&�, �� ������"��� ��#�$!�����% (2 x 8 = 16)

43) /* − 9 = 0 0(� ���>H /�(��'>( �-
��!�( �(#�#$ �#���� P<� 8��T�%
56
<,756
<,7

/* + / + 7 = 0 0(� ���>H /�(��'>( �-
��!�( �(#�#$ �#���� P<�
8��T�%

44) 0 = 2/* − 3/ − 5 ( �#���� �#�+,: 6�( P<� 2/* − 4/ − 6 = 0  0(�
/�(��'#�� �-
����% 56
<,7

0 = /* + 3/ + 2 E( �#���� �#�+,: 6�( P<� /* + 2/ + 1 = 0  0(� /�(��'#��
�-
����%


